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MENTAL ABILITY
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1. Which flower number matches with given abacus? - E
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Which tree lies between trees B and D?
(A) Tree A (B) Tree C (C) Tree E (D) Tree F

3. These are bowls of candy four friends have.

Who has zero candies ? (..IQI.)
(A) Rupal (B) Meena 9

(C) Laxmi (D) Mona Rupal Mona Meena Laxmi

4. Which number line shows 4 + 4?

® AN s ® LD

T T T1 T
12345 9

CJ-
—

LI

6 7(8]9 10 0123456 7[8]9

VetV ain NN NN

(09 I o o o I e D) sSTTTTTITTI T I

01234567[8]9 01234567[8

5. Which star shows greatest number ?
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SPACE FOR ROUGH WORK



